
MAKE: STYLE:

60

WARNING: NEVER EXCEED YOUR VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY

WEIGHT CARRYING:

   INSTALLATION TIPS:

   INSTALLATION REQUIRES:

   VEHICLE PHOTO:

   HITCH ILLUSTRATION:

   REPRESENTATIVE PHOTO

   MAKE SURE YOUR HITCH MATCHES

   LEVEL OF DIFFICULTY: MODERATE

EASY MODERATE CHALLENGING

 1.  BEFORE YOU BEGIN INSTALLATION, READ ALL
 INSTRUCTIONS THOROUGHLY.

 2.  TO EASE INSTALLATION, 2 PEOPLE MAY BE
 REQUIRED.

 3.  USING PROPER TOOLS WILL GREATLY IMPROVE
 THE QUALITY OF THE INSTALL AND REDUCE THE
 TIME REQUIRED.

Safety glasses should be 
worn at all times while
installing this product.

YEARS: 2011-CURRENT BMW MODEL: 5-SERIES SEDAN

2,000
200

TRAILER WEIGHT:
TONGUE WEIGHT:

11381 INSTALLATION INSTRUCTIONS

LBS.
LBS.

120 MIN.
MIN.   PRO INSTALL TIME:

   NOVICE INSTALL TIME:

IF YOU  ARE  HESITANT  TO UNDERTAKE
THIS TASK ON YOUR OWN, CONTACT AN AUTHORIZED

CURT INSTALLER FOR ADDITIONAL ASSISTANCE.

AVIATION
SHEARS

SOCKET

10MM
11MM
13MM
3/4"

RATCHET
TORQUE

WRENCH

17/32"
DRILL BIT POWER

DRILL PANEL REMOVAL
TOOL

SAFETY
GLASSES

MASKING
TAPE

PART REMOVAL

FISHWIRE (2) 1/2" CARRIAGE
BOLTS AND SPACERS

DRILL (2) HOLES IN TRUNK PAN
FOR 1/2" FASTENERS

TRIM UNDERBODY PANEL

REMOVE, TRIM AND REINSTALL
UNDERBODY PANEL

CLEAR TRUNK OF CONTENTS

SILICONE
CAULK SOCKET

EXTENSION

6"



INSTALLATION WALKTHROUGH:

Parts List

DESCRIPTIONPART NUMBERQTYITEM

CARRIAGE BOLT1/2-13 x 1 1/4, GR841

HEX FLANGE NUTHFN 1213, GR862

.250 x 1.00 x 3.00" SQUARE HOLE SPACERCM-SP623

CARRIAGE BOLT, GR81/2 - 13 x 2", GR824

.250 x 1.50 x 3.00" SQUARE HOLE SPACERCM-SP425

1/2" FISHWIRE1_2 FISHWIRE26

.375 x 1.25 x 2.50" ROUND HOLE SPACERCM-SP5527

.500" TAIL BRACKET11381-TB18

DESIGNED FOR USE WITH
BALL MOUNT # 45521

ACCESS HOLE IN BUMPER BEAM
(PUSH BUMPER COVER AWAY

FROM BUMPER BEAM FOR ACCESS)

EURO MOUNT OPTIONS:
# 45571 (1 7/8" BALL)
# 45572 (2" BALL)

BUMPER BEAM

TRUNK PAN

1)  Remove underbody panel that attaches the
     bumper cover to the trunk pan using a 10mm
     socket and plastic rivet remover.  Save for later
     reinstallation.

2)  Fishwire (2) 1/2" -13 X 1 1/4" carriage bolts and
     (2) SP6 spacers into the existing holes in the
     bumper beam as shown in the diagram above.
     Raise hitch into position and loosely install the
     1/2" hex flange nuts.

4

5

6

7

2

3
1

2

1

8







INSTALLATION WALKTHROUGH:

3)  Temporarily install the tail bracket to the hitch and
     using the tail bracket as a template, mark the trunk pan
     for the required drill holes.
 

Note:  Clear the truck pan of all contents and slide battery 
towards the rear of the vehicle before drilling.

4)  Remove tail bracket and drill both holes from below
      the vehicle using a 17/32" drill bit (for 1/2"
      fasteners).  Reinstall the tail bracket to the hitch
      using (2) 1/2" - 13 X 1 1/4" carriage bolts and 1/2"
      hex flange nuts.

6)  Torque all 1/2" fasteners to 110 lb. - ft.  Trim
      underbody panel as required and reinstall onto
      vehicle.  Slide battery back into position and
      reinstall carpet and trunk contents removed in
      step 3

5)  Apply silicone caulk to the SP4 spacers and
     remaining 1/2" carriage bolts and install into the
     trunk pan and tail bracket as shown and loosely
     install the remaining 1/2" hex flange nuts.

3"

6"





INSTALLED VIEW

GROSS LOAD CAPACITY WHEN USED AS A WEIGHT CARRYING HITCH:                LBS. TRAILER WEIGHT &             LBS. TONGUE WEIGHT.

***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY.***
WARNING: ALL NON-TRAILER LOADS APPLIED TO THIS PRODUCT MUST BE SUPPORTED BY 18050 STABILIZING STRAPS.

** FAILURE TO PROPERLY SUPPORT NON-TRAILER LOADS WILL VOID PRODUCT WARRANTY**

HITCH WEIGHT:         LBS.

INSTALL TIME

  PROFESSIONAL:        MINUTES

  NOVICE (DIY):         MINUTES

INSTALL NOTES:

INSTALLATION STEPS

PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE THAT ALL FASTENERS
ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND.

2,000 200

19

60

BMW 5-SERIES (SEDAN)11381

120

Parts List
DESCRIPTIONPART NUMBERQTYITEM

CARRIAGE BOLT1/2-13 x 1 1/4, GR841

HEX FLANGE NUTHFN 1213, GR862

.250 x 1.00 x 3.00" SQUARE HOLE SPACERCM-SP623

CARRIAGE BOLT, GR81/2 - 13 x 2", GR824

.250 x 1.50 x 3.00" SQUARE HOLE SPACERCM-SP425

1/2" FISHWIRE1_2 FISHWIRE26

.375 x 1.25 x 2.50" ROUND HOLE SPACERCM-SP5527

.500" TAIL BRACKET11381-TB18

TOOLS REQUIRED
RATCHET and 6" EXTENSION

TORQUE WRENCH
3/4", 13mm SOCKETS

10mm, 11mm SOCKETS
DRILL WITH 17/32" DRILL BIT

SILICONE CAULK
PLASTIC RIVET REMOVAL TOOL

TIN SNIPS /AVIATOR SHEARS
MASKING TAPE

SAFETY GOGGLES

2
6

4

5

1) Remove underbody panel that attaches the bumper cover to the trunk pan using a 10mm socket and rivet
removal tool.  Save for later reinstallation.

2) Fishwire (2) 1/2" -13 X 1 1/4" carriage bolts and (2) SP6 spacers into the existing holes in the bumper beam
as shown in the diagram above.  Raise hitch into position and loosely install the 1/2" hex flange nuts.

3) Temporarily install the tail bracket to the hitch.  Using the tail bracket as a template, mark the trunk pan
for the required drill holes.

Note:  Clear the truck pan of all contents and slide battery towards the rear of the vehicle before drilling.

4) Remove tail bracket and drill both holes from below of the vehicle using a 17/32" drill bit (for 1/2" fasteners).
Reinstall the tail bracket to the hitch using (2) 1/2" - 13 X 1 1/4" carriage bolts and 1/2" hex flange nuts.

5) Apply silicone caulk to the SP4 spacers and remaining 1/2" carriage bolts.  Install hardware into the trunk
pan and tail bracket as shown.  Loosely install the remaining 1/2" hex flange nuts.

6) Torque all 1/2" fasteners to 110 lb-ft.  Trim underbody panel as required and reinstall onto vehicle.  slide the
battery back into position and reinstall carpet and trunk contents removed in step 3.

13

1

7

2

- DRILLING REQUIRED
- REMOVE UNDERBODY PANEL / TRIM
- FISHWIRE FASTENERS

DESIGNED FOR USE WITH
BALL MOUNT # 45521

EURO MOUNT OPTIONS:
# 45571 (1 7/8" BALL)
# 45572 (2" BALL)

ACCESS HOLE IN BUMPER BEAM
(PUSH BUMPER COVER AWAY

FROM BUMPER BEAM FOR ACCESS)

BUMPER BEAM

TRUNK PAN

8

Learn more about trailer hitches and towing we have.Find more CURT products on our website.

https://www.carid.com/curt/
https://www.carid.com/trailer-hitches.html

